«Среднее арифметическое»
1. Найти среднее арифметическое чисел: 0,1; 4,4; 6

А) 5,25                       Б) 3,5              в) 1,7             Г) 2,85

2. Вычислить: 3,57+2,23-4,8

А) 10,1                       Б) 1                  В) 5,79          Г) 1,3

3. Вычислить: (17,28 / 3,2 + 1,4 * 2,5) /89 + 1,9

А) 1,1                         Б) 2                  В) 2,9             Г) 11,9

4. Решить уравнение: 1,5х – 1,15 =1,1

А) 2,25                       Б) 0,75               В) 2,16          Г) 1,5

5. Вычислить: 4,67 + 3,23 -5,8

А) 41,06                      Б) 2,3                 В) 2,1             Г) 7,24

6. Найти среднее арифметическое чисел: 4,7; 3; 0,1

А) 1,7                          Б) 3,9                  В) 2,55           Г) 2,6     
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